
����� 2 
��	�
��
����������� 

 
 �������	
����
�����
�������	��������� (Quasi-Experimental Research) �,-��.��/�0�1�����
2�
3�45
�
���6/7����2�8��2��
9
��4�:8��;���<=82�>>���-��
?1 ���2@�0�3@�0�2�46�A�B
���������	
��=�2��
4.��/� 5�C
��4��;0��=�;���������	
 1��
�����	
=��
��CD4.��/��E��� 6  
0:8����	1��2
�3�4�G���;1��
3�
��C��;�8�	 ��C=��� ��H@43���	@�� 5;;50
�������	 �
�-���4-����
<=8<
�������	 ��A��G��
�
��������  5�C������
��CI918�4:� ���
�� 
 
������� 
 ��C=�����J�I4�	 (Target  Population)<
�������	
����
�� ���

�����	
=��
��CD4.��/��E��� 
6 O����G����.��/��	:@<
P�
���	
 ��� 2 �E���.��/� 2549 <
U�����	
��.;�� 5 (;8�
3�����@�) ���I���
	C�� 2�����2G�
����
��.;��

�	C�� �G�
�
 5 I8�����	
 4�
�����	
 180 

 U�	4�I������<

�����-��U�����	
���
�� 

1. ���
U�����	
���4�1
��<I>@ 4��G�
�

�����	
=��
��CD4.��/��E��� 6 4����@� 1 
I8�����	
 

2. ���
U�����	
������I8�����	
5;;
�C0�2�46�A�B U�	4�
�����	
��@� ��
���� 5�C�@�


�C��
 

3. ���
2D�
����G���
1��0:8����	 �G�<I84�
��42C���<
�����[;18�4:� 5�C2�4��D
3��3�4��
?�8�	@��<��8=�� 

 
������������� 
 ��H@43���	@�����

�����	
����G����.��/�<
��CD4.��/��E��� 6  �G����.��/��	:@<
P�
���	
��� 2 
�E���.��/� 2549 U�����	
��.;�� 5 (;8�
3�����@�) ���I���	C�� 2�����2G�
����
��.;��

�
	C�� �G�
�
 60 

 O���?�84�U�	��A�2H@4�	@���@�	�8�	�����;\��� U�	4���A��G��
�
�����-����H@4
3���	@�� ���
�� 

1. 2H@4I8�����	
U�	��A�2H@4�	@���@�	4����
��H@43���	@�� 2 I8�����	
 �����C=��� 5  
I8�����	
 

2. 2H@4��H@43���	@�����?�8 �,-���G�I
����
��H@4�������� 1 5�C��H@4�������� 2  ��H@4 
�C 30 

 U�	<=8��A�2H@4�	@���@�	 



 

 

2 
 

 

   ��H@4�������� 1   ���
���2�
3�45
�
���6/7����2�8��2��
9
��4�:8��;���<=8
2�>>���-��
?1 
         ��H@4�������� 2   ���
���2�
3�45
�
���6/7����2�8��2��
9
��4�:8 
 
��������������  
 5;;50
�������	
����
�����
����	���������  O����G��
�
��������3�45;;50
��������
5;; (Nonequivalent   Experimental Group Design) (Larry B. Christensen ,1988 : 257) 
 
����� 4   5;;50
�������	 
 
��H@4 ���2�;�@�
����C     

�����C�G�18�4:� 
��������C�G� ���2�;I������������

��C�G�18�4:� 
0�3@���CI�@����H@4 

 E1  Y1 X  Y2  Y2 k Y1 
E2 Y1 X Y2  Y2 k Y1 

 

�!��  
 X 5�
 ��������C�G�  
 E1 5�
 ��H@4�������� 1 2�
3�45
�
���6/7����2�8��2��
9
��4�:8��;��� 

<=82�>>���-��
?1 
 E2 5�
 ��H@4�������� 2  2�
3�45
�
���6/7����2�8��2��
9
��4�:8 
 Y1 5�
 ���2�;�@�
����C�����C�G���������  
 Y2 5�
 ���2�;I����������C�����C�G���������  
             Y2 k Y1 5�
      0�3@��1��
C5

�CI�@����H@4�������� 1 5�C��H@4�������� 2 
 
���������"#��� 
 �������	
����
��0:8����	<=85;;50
���2D�3� U�	�����2�;
��453�3@���CI�@��
@�4�=l�4 
��1
m�3 (Arithmetic mean) U�	�����2�;
@��� (t-test)  
 
 
 



 

 

3 
 

 


$�!����!����%�&%��������� 
 �
�-���4-����<=8<
�������	��C��;�8�	 

1.  50
������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8���<=82�>>���-��
?1 
<
��=�2��
4.��/�  ��H@42��C������	
�:82��
4.��/� .�2
� 5�C��o
A��4 ��-��� �.�/p.�23�9
@�
�:8 �G�
�
 7 50
���2�
 
 

2.  50
������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8<
��=�2��
4.��/�   
��H@42��C������	
�:82��
4.��/� .�2
� 5�C��o
A��4 ��-��� �.�/p.�23�9
@��:8  �G�
�
 7 50
���
2�
 
 3.  50
qr�������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8 

1.  5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/� ��H@42��C������	
�:82��
4 
.��/� .�2
� 5�C��o
A��4  ��-��� �.�/p.�23�9
@��:8 

2.  5;;��C�4�

��4��;0��=�;���������	
 
3.  ��C��/
G�3�; 

 
���"�&��
$�!����!�%��������� 
 0:8����	�G��
�
���2�8��5�CI�
HmP�,�
�-���4-����<=8<
�������	3�41��
3�
 ���
�� 

1. 50
������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8��;���<=82�>>� 
��-��
?1<
��=�2��
4.��/�  ��H@42��C������	
�:82��
4.��/� .�2
� 5�C��o
A��4 4�1��
3�
���
2�8�����3@�?�
�� 

1.1 .��/���	�C���	�����	���;�6/7� I������ 5
�
������	���;������������	
��� 
2�
3�45
�
���6/7����2�8��2��
9
��4�:85�C���<=82�>>���-��
?1  ������2��5�C��
����	���
����	�18��3@�� s 

1.2  .��/�I���2:3����.��/�1��
,-�
p�
 ,H�A.����= 2544 3�4U
��2�8��1��I��� 
2:3�
�����	
=��
��CD4.��/��E��� 6 <
�C��;=@��=��
��� 2 

1.3 ���
��CI9�H�4H@�I4�	 4�3�p�
������	
�:8 5�C0�������	
�:8���
��I���<I8�I4�C 
242G�I��;�
-��I����<=8<
�������� U�	<=8�
-��I�<
��=�2��
4.��/�  ��H@42��C������	
�:82��
4
.��/� .�2
� 5�C��o
A��4  

1.4 2�8��50
������������	
�:8��	
�; 3�4�H���C2�
91���
-��I� 5�C�H���C2�
9 



 

 

4 
 

 

1��I������2�
U�	<=85
�
���6/7����2�8��2��
9
��4�:8���<=82�>>���-��
?1 �G�
�
 7  50
 
���4��
-��I�
��;
�H4��-����.�/p.�23�9
@��:8  <=8�����G��
�
���2�
����2��
  14  
�;  
�;�C 50 

��� U�	53@�C50
���2�
4���	�C���	����3@�?�
�� 

1.4.1 2��C2G�
�> 
1.4.2 0�������������	
�:8 
1.4.3 2��C������	
�:8 
1.4.4 ��C;�
������	
�:8 
1.4.5 ������5�C��C�4�
0�������	
�:8 
1.4.6 2-��������	
�:8 

 
 �����
����������
�������"���������'()�"�&��"��$*$����+&���%�&"�,,�
�!���-.  
��.�/����
����/  
 1��
�@�
4�������������4<
����G���
���
��H@41��0:8���	
 0:8����	5;@�0:8���	
������
��H@4 
s �C 5 

 I������
��
�G�18�3����@�4��
<
��-�������	���;
��4��;0��=�;���������	
 U�	�@��
2�>>�1��
���
��	���/m9���/����
��4�I[
=�;���24�=�� 5�C0:8����	��;0:8���	
�@�4��
�C;H3��
�2��45�� ���
��
0:8����	5�C0:8���	
��=-��<
<;2�>>� I��0:8���	
2�4��D�t�;�3�?�83�4���2�>>�?�8 
�=@
 0:8���	
2@���
3��3@����� ?4@,:��2�	����<
I8�����	
 ���
38
 0:8����	�[�C<I8����2��45�����

5234�u2C24<
53@
�;���2�
  �,-��5��1�������� �=@
 �H���m9������	
3@�� s I������������	
�;
<
I
@�	������	
�:8 ��-��� �.�/p.�23�9
@��:8 U�	0:8����	�G�I
��G�
�
5234�u�,-��5��1��������
���
�� 
 2C245234�u?�8      5    ���     5��������     ��
2�?28             1       5�@� 
 2C245234�u?�8    10    ���     5��������     �����                 1        �8�4 

2C245234�u?�8    15    ���     5��������     24H�                    1        ��@4  
2C245234�u?�8    25    ���     5��������     ��C��v���
2�     1        ��
 

(1)  1��
�p4
���.   0:82�
2�8����J�I4�	<
������	
�:8<
�
-��I�����G�I
� 5�C��C3H8


��42
<� �,-��<I80:8���	
4�5���:�<�����C���	
�:8 U�	<I8wx���-�����@����0:82�

G�4����
2-��
G� 5�C5�8�
0�������	
�:8���
��I���5�@0:8���	
 

       (2) 1��
�G�
��4�18�<�   <I80:8���	
��;��;
��4�18�<����4��	:@���4 5�C��;��418�4:�
<I4@���38�����.��/����<;
��4�:8���
�:5��  5�C<I80:8���	
.��/�I��18�����G�������	
5�C<I853@�C
��H@4=@�	��
3���
G�D�4  5�C.��/�I�
G�3�;�8�	3
���    



 

 

5 
 

 

       (3)  1��
���U
��2�8��5
�
��<I4@  2�8��
��4
����;	�����	��?4@24;:�m91��0:8���	

1��
<I4@  U�	0:82�
��
��\�	
��4�18�<�0��1��0:8���	
 O���2�4��D�G�?�8U�	���O��D�40:8���	
 5�C
<I80:8���	
���50

��5�8�x>I����2D�
���m9���
�:�G�I
� 0:82�
����2��4��A���� ��C;�
��� 
5�C��
9
��4�:8�,��4�3�4<I824;:�m9	���1��
 

       (4)  ���
G�5
�
��4
��?�<=8   0:82�
5�C0:8���	
�@�4��
�P����	D��5
����
G�
��4�:8
����	���;2���������	
?�<=8��CU	=
9�	@��?�?�8;8��  5�C<I80:8���	

G�5
�
��4
��1��3
���?�<=8<

2D�
���m93@�� s ���I���I��	�������
H8
�
	5�C5���<I4@ 

(5)  ����;��
  0:82�
��y�U���2<I80:8���	
2C�8�
3
����@�5
�
��4
��1��3
 
?�8�����	
5���?�������4�@�
����4���	
�:8�	@��?� U�	<I8
�����	
�P����	����	;���	;�CI�@��

��4
��3�
����438
���	
�:8<
;����	

��
��;
��4
��3�
2��
2H�������	
�:8<
;����	

��
 

1.5  
G�50
������������	
�:8���0:8����	2�8��1��
<I8�����	9�������/����	�
�,
A9 5�C 
0:8�=��	�=�> 5 �@�
3���2�;
��4D:�38�� �I4�C241���
-��I� 
  1.6  
G�50
������������	
�:84����;��H�5�8?13�4
G�5
C
G�1��0:8�=��	�=�><I8
�I4�C245�C4���C2��A�P�,	���1��
 5�8����
G�?��������;
�����	
���?4@<=@��H@43���	@���,-���:
��4
�I4�C241���
-��I� ������4 ���� 5�8�
G�4����;��H��@�

G�?�<=8��������� 

2. 50
������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8<
��=�2��
4.��/�   
��H@42��C������	
�:82��
4.��/� .�2
� 5�C��o
A��4 4�1��
3�
���2�8�����3@�?�
�� 

2.1 .��/���	�C���	�����	���;�6/7� I������ 5
�
������	���;������������	
��� 
2�
3�45
�
���6/7����2�8��2��
9
��4�:8������2��5�C��
����	�������	�18��3@�� s 

2.2  .��/�I���2:3����.��/�1��
,-�
p�
 ,H�A.����= 2544 3�4U
��2�8��1��I��� 
2:3�5�C
�����	
=��
��CD4.��/��E��� 6 �	:@<
�C��;=@��=��
��� 2 

2.3 ���
��CI9�H�4H@�I4�	 4�3�p�
������	
�:8 5�C0�������	
�:8���
��I���<I8�I4�C 
2G�I��;�
-��I����<=8<
�������� U�	<=8�
-��I�<
��=�2��
4.��/�  ��H@42��C������	
�:82��
4
.��/� .�2
� 5�C��o
A��4  

2.4 2�8��50
������������	
�:8��	
�; 3�4�H���C2�
91���
-��I� 5�C�H���C2�
9 
1��I������2�
U�	<=85
�
���6/7����2�8��2��
9
��4�:8�G�
�
 7 50
 ���4��
-��I�  
��;
�H4
��-��� �.�/p.�23�9
@��:8  <=8�����G��
�
���2�
����2��
  14  
�;  
�;�C 50 
��� U�	53@�C50
���
2�
4���	�C���	����3@�?�
�� 

2.4.1 2��C2G�
�> 
2.4.2 0�������	
�:8���
��I��� 



 

 

6 
 

 

2.4.3 2��C������	
�:8 
2.4.4 ��C;�
������	
�:8 
2.4.5 ������5�C��C�4�
0�������	
�:8 
2.4.6 2-��������	
�:8 
2.4.7 5I�@�������	
�:8 

 
 �����
����������
�������"��������$�
�'()�"�&��"��$*$����+& ��.�/����
����/  

(1)  1��
�p4
���.   0:82�
2�8����J�I4�	<
������	
�:8<
�
-��I�����G�I
� 5�C��C3H8


��42
<� �,-��<I80:8���	
4�5���:�<�����C���	
�:8 U�	<I8wx���-�����@����0:82�

G�4����
2-��
G� 5�C5�8�
0�������	
�:8���
��I���5�@0:8���	
 

       (2) 1��
�G�
��4�18�<�   <I80:8���	
��;��;
��4�18�<����4��	:@���4 5�C��;��418�4:�
<I4@���38�����.��/����<;
��4�:8���
�:5��  5�C<I80:8���	
.��/�I��18�����G�������	
5�C<I853@�C
��H@4=@�	��
3���
G�D�4  5�C.��/�I�
G�3�;�8�	3
���    

        (3) 1��
���U
��2�8��5
�
��<I4@  2�8��
��4
����;	�����	��?4@24;:�m91��0:8���	

1��
<I4@  U�	0:82�
��
��\�	
��4�18�<�0��1��0:8���	
 O���2�4��D�G�?�8U�	���O��D�40:8���	
 5�C
<I80:8���	
���50

��5�8�x>I����2D�
���m9���
�:�G�I
� 0:82�
����2��4��A���� ��C;�
��� 
5�C��
9
��4�:8�,��4�3�4<I824;:�m9	���1��
 

       (4)  ���
G�5
�
��4
��?�<=8   0:82�
5�C0:8���	
�@�4��
�P����	D��5
����
G�
��4�:8
����	���;2���������	
?�<=8��CU	=
9�	@��?�?�8;8��  5�C<I80:8���	

G�5
�
��4
��1��3
���?�<=8<

2D�
���m93@�� s ���I���I��	�������
H8
�
	5�C5���<I4@ 

(5)  ����;��
  0:82�
��y�U���2<I80:8���	
2C�8�
3
����@�5
�
��4
��1��3
 
?�8�����	
5���?�������4�@�
����4���	
�:8�	@��?� U�	<I8
�����	
�P����	����	;���	;�CI�@��

��4
��3�
����438
���	
�:8<
;����	

��
��;
��4
��3�
2��
2H�������	
�:8<
;����	

��
 

1.5 
G�50
������������	
�:82�
���0:8����	2�8��1��
?�<I8�����	9�������/� 
���	�
�,
A9 5�C0:8�=��	�=�> 5 �@�
3���2�;
��4D:�38�� �I4�C241���
-��I� 
  1.6  
G�50
���2�
4����;��H�5�8?13�4
G�5
C1��0:8�=��	�=�><I8�I4�C245�C4�
��C2��A�P�,	���1��
 5�8����
G�?��������;
�����	
���?4@<=@��H@43���	@���,-���:
��4�I4�C241��
�
-��I� ������4 ���� 5�8�
G�4����;��H��@�

G�?�<=8��������� 
 
 



 

 

7 
 

 

4.  ����
"����
��"��'�	�1������
��������"��$�23�(� 
 5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/� 0:8����	�G��
�
���2�8��3�41��
3�

���
�� 
 1.  .��/����2�� 3G��� ��
����	����	���;��A����2�8��5;;��2�;���0�2�46�A�B������
���	
 5�C���2������	���;�����C�4�
0���=�2��
4.��/� 
 2.  2�8��5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/� ��-��� �.�/p.�23�9
@��:8 
���
5;;��2�;��
�	=
�� 4 3����-��  �G�
�
  60  18�   
 3.  
G�5;;��2�;���2�8��1��
?�<I80:8�=��	�=�>���������0���C�4�
0�5�C0:84�
��4�:8�8�

��=�2��
4.��/� .�2
�5�C��o
A��4 �G�
�
 5 �@�
 ,����m�3���2�;���<=8
G�D�4     3����-�� 
5�C��C�4�

��42��
�8���CI�@��18�2�;��;�H���C2�
9�=��,63����4 5�8�
G�
C5

1��
0:8�=��	�=�>4�I�
��4����	�3���=���
-��I�U�	��A����I�
@���=
�
��42��
�8�� (IOC) 5�C,����m�

@� IOC 3���53@ .5 1��
?� �CD-��@�5;;��2�;
��
���?�83��3�4�H���C2�
9  (�8�
 2�		. 5�C
���
m� 2�		., 2543 : 249) 
 4.  ���;��H�5�8?15;;��2�; 5�C
G�5;;��2�;���?�8��;���5�8?1���;��H�5�8�  ?�
�����<=8  (Try out) ��;
�����	
=��
4�A	4.��/��E��� 1 ����
	���	
�
-��I����<=8<
��������4�5�8� 
�G�
�
 40 

 
 5.  3���<I8
C5

5;;��2�;���
�����	
�G�U�	<I8 1 
C5

  2G�I��;18����D:� 5�C<I8 0 

C5

 2G�I��;18����0��  
 6.  
G�0������2�;4����
��CI9��	18� �,-��
G�
�mI�
@�
��4	���@�	 5�C
@��G�
��
�G�5
�  5�8�
����-��18����4�
��4	���@�	�CI�@�� 0.20-0.80 5�C4�
@��G�
���G�5
�3���53@ 0.20-0.60 
�G�
�
 50 18� U�	4��
-��I�5�C,63����4���2�4��D?�8
��;
�H43�4�H���C2�
9����G�I
�?�8 
 7.   
G�5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/����
����-��5�8� ?���2�;
��;
�����	
=��
4�A	4.��/��E��� 1 ����
	���	
�
-��I������@��4�5�8� �G�
�
 40 

 �,-��I�
@�
��4
�=-��4��
 U�	<=8 KR-20 1��
:����95�C��=��9�2�
 (Kuder-Rchardson Formula 20) 	�4��;
@�
��4
�=-��4��
 .80 1��
?� 
 8. 
G�5;;��2�;���0@�
���
����-��5�CI�
HmP�, ?�<=82�;���0�2�46�A�B���������	

��;��H@4�����5�C��H@4
�;
H4����G��������	<

����
�� U�	��2�;I���
�������	� 
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5. ������
���$��������
���������
����  
 0:8����	?�82�8��5;;��C�4�

��4��;0��=�;���������	
 O���0:8����	?�8���;��H�5�C,�o
�
4���� ,��m�  0H���3H (2541 : 220-223)  5�C2�
�  ��
��
 (2545 : 263-267)U�	4���A����2�8��
5�CI�
HmP�,5;;��C�4�

��4��;0��=�;���������	
���
�� 
 1.  �G�I
����/mC1��
��4��;0��=�;���������	
 5�C2�8��18�
��43�4
Hm���/mC���
�G�I
�?�8 O���5;;��C�4�

��4��;0��=�;���������	
���
5;;���=
�� 3 3����-�� 
-� ���� (�G�) 
?4@���� (?4@�G�) 5�C?4@5
@<�  
 
 ��������  

(0) 18�,��8�2@���
���?�8��;4�;I4�	���
�:3��3�4��������G�I
� 
�. ���� 
1. ?4@���� 

. ?4@5
@<� 

 2.  
G�5;;��C�4�

��4��;0��=�;���������	
 <I80:8�=��	�=�> 5 �@�
 3���2�;
��4
2��
�8���CI�@��18�
��4��;
Hm���/mC���38�������� 5�C,����m�<
2������
��5�8?1���;��H� 
 3.  
G�0����3���2�;4�I�
@���=
�
��42��
�8�� (IC) 5�C
���\,�C18����4�
@� (IC) 
4����@�I�-���@���; 0.5 
 4.  
G�5;;��C�4�

��4��;0��=�;���������	
���
����-��5�8�?������<=8��;
�����	

=��
��CD4.��/��E��� 6 ���?4@<=@��H@43���	@�� �G�
�
 40 

 
 5.  
G�0�4����
��CI9I�
HmP�,1��18�
��453@�C18� I�
@��G�
���G�5
� U�	�����2�;

@���� (t-test) 5;;��

�
 25 ����9�O[
391����H@42:�5�C��H@43�G� �G�
�
 40 18� 
 6.  I�
@�
��4�=-��4��
1��5;;��C�4�

��4��;0��=�;���������	
U�	��A�I�2�4��C2��A�B
5��w� (∝ - coefficient) 1��
��
;�
 (Cronbach)  
 
6. ��	����
��
�������
��� 
 0:8����	��[;��;��418�4:� 5�C�G��
�
��������3�4�G���;1��
3�
���3@�?�
�� 
1. 1�
��4�@�44-����P�
��=���3���	�5�C���5
C5
� 
mC.��/�.�23�94I����	���	2�1�� 


��
��9 ���	��13�x33�
� D��0:8�G�
�	���U�����	
��.;�� 5 (;8�
3�����@�)  ���I���	C�� 2�����
2G�
����
��.;��

�	C�� �,-��1�
��4�@�44-�<
����G��
�
�����[;18�4:�5�C�������
����	 
2. ����3��	4�������� 
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 �3��	4�
�-���4-����<=8<
�������� O�����C��;�8�	 
2.1 50
������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8��;���<=82�>>� 

��-��
?1  50
������������	
�:83�45
�
���6/7����2�8��2��
9
��4�:8 5�C5;;���
��4
��;0��=�;���������	
  

2.2 �3��	4
�����	
������
��H@43���	@���18���;�������� 60 

 
2.3 �G����2H@4I8�����	
 �18���;��������U�	5;@����
��H@4����� 2 ��H@4  
2.4 �@�
��������<I8��H@43���	@������ 2 ��H@4�G�5;;���
��4��;0��=�;���������	
  

<=8��A�2�4P�/m9 �@�
5;;2�;D�4<I8wx� 
2.5 0:8����	�G��
�
����������;��H@43���	@��U�	0:8����	���
0:82�
����2����H@4 3�4 

50
���2�
���?�8���?�8 O���5;@����
 2 ��H@4 
��H@4�������� 1  ?�8��;���2�
3�45
�
���6/7����2�8��2��
9
��4�:8��;���<=8

2�>>���-��
?1 <=8����<
��������  7 2����I9 
��H@4�������� 2  ?�8��;���2�
3�45
�
���6/7����2�8��2��
9
��4�:8 <=8���� 

<
��������  7  2����I9 
2.5 �3��	42D�
��� U�	������2P�,I8�����	
5�C��2�H�H���m9<I8,�8�4  �,-����-���G�
�	 

<
����G����������H�
����   
3. ����G��
�
�������� 
 0:8����	�G��
�
��������4�1��
3�
 ���
�� 
 3.1   ��2�;�@�
����� U�	0:8����	
G�5;;��2�;���0�2�46�A�B���������	
��=�2��
4
.��/�  5�C5;;��C�4�

��4��;0��=�;���������	
���0:8����	2�8��1��
 ?���2�;�@�
2�
 (Pre-
test) ��;��H@4�������� 1 5�C��H@4�������� 2 5�C
G�0����?�84���2�;
�	2G�
�>���2D�3��8�	
@��� 
(t-test) 
 3.2   �@�
��������2�
 0:8����	5
C
G�3��2�8��
��4
H8
�
	��;
�����	
 5�C=��5�� 
����	���;������	
3�45
�
���6/7����2�8��2��
9
��4�:8��;���<=82�>>���-��
?1 5�C������	

3�45
�
���6/7����2�8��2��
9
��4�:8 <I8
�����	
�18�<��@�
�G��
�
���2�
  
 3.3   0:8����	�G��
�
��������<
P�
���	
��� 2 �E���.��/� 2549 U�	0:8����	���
0:8�G��
�
  ���
2�
�8�	3
������� 2 ��H@4 <=8�C	C����<
�������� 7 2����I9 U�	�H�50
���2�
<=8����2�
 
50
�C 50 
���   
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4.  1��
I����������� 
 4.1   
G�5;;��2�;���0�2�46�A�B������	
��=�2��
4.��/�  5�C5;;��C�4�

��4
��;0��=�;���������	
?���2�;��;
�����	
 ���� 2 ��H@4 
 4.2 
G�
C5

���?�8���5;;��2�;���0�2�46�A�B������	
��=�2��
4.��/� 5�C5;;
��C�4�

��4��;0��=�;���������	
4����
��CI9�8�	��A����2D�3� �,-����2�;2443�p�
3@�?� 
 
7.  �����
$���7*.&��+� 
 �������	
����
�� 0:8����	?�8�G��
�
������
��CI918�4:� ���3@�?�
�� 
1. 2D�3����<=8<
������
��CI9I�
HmP�,1���
�-���4-� 

1.1 ���I�
@�
��4����	�3���=���
-��I� (Content Validity) 1��5;;��2�;���0� 
2�46�A�B���������	
 U�	<=8��A�1��U����
���5�C5�4�;��3�
 (Rovineli and Hambleton) 
 1.2  ���I�
@��C��;
��4	�� (Level of Difficult) 1��5;;��2�;<=82:3�1����I9
2�

(Johnson) 

1.3  ���I�
@��G�
���G�5
� (Power of Discrimination) 1��18�2�;U�	<=82:3�1�� 
?w
9���	9 (Findley) 

1.4 ���I�
@�
��4�=-��4��
1��5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/�  
U�	<=8��A�1��
:����9-��=��9�2�
 20 (Kuder Richardson Reliability) 

1.5 ���I�
@��G�
���G�5
�1��5;;��C�4�

��4��;0��=�;���������	
U�	��� 
��2�;�� (t-test)<=82:3� 
2.  2D�3��,-�������2�;2443�p�
 

2.1 ���I�
@��\���	  
2.2 ���I�2@�
�;��	��;
4�3�p�
 
2.3  ��2�;
��4���
���,�
A91��
��45�����
 (Test  of  Homogeneity  of  Variance) 

1��18�4:��@�
������
��CI9
��45�����
  U�	<=8��A���2�;
@���w (F-test) 
2.4  �����2�;�� (t-test) 5;;��H@43���	@��?4@���
��2�C�����
 (Dependent  Sample) �,-��

����	;���	;
��453�3@��1��
C5

�\���	P�	<
��H@4  1����H@4��������� 2 ��H@4 (�8�
 2�		. 
5�C���
m�  2�		.,2540:248) 

2.5  �����2�;�� (t-test) 5;;��H@43���	@�����
��2�C��
 (Independent Samples) �,-��
����	;���	;
��453�3@��1��
C5

5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/� 5�C
5;;��C�4�

��4��;0��=�;���������	
 �CI�@����H@4���?�8��;���2�
3�45
�
���6/7����
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2�8��2��
9
��4�:8��;���<=82�>>���-��
?1  ��;��H@4���?�8��;���2�
3�45
�
���6/7����
2�8��2��
9
��4�:85;;��3�U�	<=8
C5

���0�2�46�A�B���������	
��=�2��
4.��/�  5�C5;;
��C�4�

��4��;0��=�;���������	
I������	
 2G�I��;�������	;���	;<=8
C5


��453�3@��
�CI�@�����2�;I������	
5�C���2�;�@�
���	
1������ 2 ��H@4���
��m�9<
�������	;���	; 
 
"#������%�&�����
$���7*.&��+� 
 ������
��CI918�4:�?�8�G��
�
���3�41��
3�
���3@�?�
�� 
1. 2D�3����<=8<
������
��CI9I�
HmP�,1���
�-���4-� 

1.1 I�
@�
��4����	�3���=���
-��I� (Content Validity) 1��5;;��2�;���0�2�46�A�B 
���������	
��=�2��
4.��/� U�	<=8��A�1��U��
���5�C5�4�;��3�
 0:8����	<=82D�3����
��  
  

N

R
IOC ∑=  

�4-��   IOC   5�
  ��=
�
��42��
�8���CI�@��18�2�;��;�H���C2�
9 
        ∑R   5�
  0���4
C5


��4
���I[
1��0:8�=��	�=�> 
            N    5�
 �G�
�
0:8�=��	�=�> 

 
  1.2   I�
@�
��4	�� (Difficulty) I�-�
@� P 1��18�2�;���0�2�46�A�B���������	
��=�
2��
4.��/� U�	<=82:3�  

P   =   
LU

LU

TT

NN

+

+  

 

  �4-��  P 5�
 
@�
��4	��1��18�2�;53@�C18� 
    UN  5�
 �G�
�
1��

3�;D:�<
��H@4���?�8
C5

2:� 
    LN  5�
 �G�
�
1��

3�;D:�<
��H@4���?�8
C5

3�G� 
    UT  5�
 �G�
�


����I4�<
��H@4���?�8
C5

2:� 
  LT  5�
 �G�
�


����I4�<
��H@4���?�8
C5

3�G� 
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  1.3   
@��G�
���G�5
� (Discrimination) 1��5;;��2�;���0�2�46�A�B���������	
 <=8
2:3����
��  

D = LU PP −  
 

  �4-��  D 5�
 �G�
���G�5
�1��18�2�;53@�C18� 
    UP  5�
 2��2@�
�CI�@���G�
�


<
��H@42:����3�;D:���;�G�
�


<


��H@42:�����I4� 
    LP  5�
 2��2@�
�CI�@���G�
�


<
��H@43�G����3�;D:���;�G�
�


<


��H@43�G�����I4� 
 
  1.4  ���I�
@�
��4�=-��4��
 (Reliability) 1��5;;��2�;���0�2�46�A�B���������	
��=�
2��
4.��/� U�	<=82:3� KR k 20 1��
:����9 k ��=��9�2�
 (Kuder - Richardson)   (�8�
 2�		. 5�C
���
m� 2�		., 2536 : 168) 
  2:3� KR-20 
 

    rtt   = 











−

−
∑

2
1

1 S

pq

k

k  

 

  �4-��  rtt  5�
 
@�
��4�=-��4��
1��5;;��2�; 
    k 5�
 �G�
�
18�1��5;;��2�; 
    p 5�
 2��2@�
1��0:8���3�;D:�<
53@�C18� 
    q 5�
 2��2@�
1��0:8���3�;0��<
53@�C18� 
    S2 5�
 
��45�����
1��
C5

����I4� 
 

1.5  I�
@��G�
���G�5
�1��5;;��C�4�

��4��;0��=�;���������	
U�	�����2�;��           
(t-test)<=82:3� (�8�
  2�		. 5�C���
m� 2�		. , 2531 : 185) 
   
 

   

L

2
L

H

2
H

LH

n

S

n

S

XX
t

+

−
=  

 
 

 �4-��   t 5�
 
@��G�
���G�5
�1��5;;��C�4�
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  HX  5�
 
C5

�\���	1����H@42:� 
  LX  5�
 
C5

�\���	1����H@43�G� 

  s2
H  5�
 
C5


��45�����
1����H@42:� 

  s2
L  5�
 
C5


��45�����
1����H@43�G� 

  Hn  5�
 �G�
�
��H@43���	@��<
��H@42:� 
  Ln  5�
 �G�
�
��H@43���	@��<
��H@43�G� 
 

 1.6  I�
��4�=-��4��
1��5;;��C�4�

��4��;0��=�;���������	
 U�	<=82:3�
2�4��C2��A�B5��w� (α -  Coefficient) (�8�
  2�		. 5�C���
m� 2�		. , 2531 : 170-172) 
 
 

   











−

−
= ∑

s

s

t

i

n

n
2

2
 

1
1

α  

 
 

 �4-��  α  5�
 
@�2�4��C2��A�B1��
��4�=-��4��
 
  n  5�
 �G�
�
18�<
5;;��C�4�
 
  S 2

i  5�
 
C5


��45�����
���
��	18� 
     S 2

t  5�
 
C5


��45�����
1���
�-���4-�����\;�; 
 
2.  2D�3��,-�������2�;2443�p�
 

2.1 ���I�
@��\���	 ( X  ) U�	<=82:3�1�� �w��9�:2�
 (Ferguson,1981 : 49) 
 
 

N

x
X ∑=  

 
 

�4-��  X  5�
      
C5

3��������1
m�3 
              ∑X  5�
      0���4����I4�1��
C5

 

 N 5�
      �G�
�
<
18�4:�
��
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2.2 ���I�
@�2@�
�;��	��;
4�3�p�
 (S) U�	<=82:3�1���w��9�:2�
 (Ferguson,1981:68) 
 
 

( )
( )1NN

XXN
S

22

−

−
= ∑∑  

 

�4-��       S 5�
      2@�
�;��	��;
4�3�p�
1��
C5

 
            ∑ 2X  5�
      0���41��
C5

53@�C3��	��G����2�� 
           ( )2X∑  5�
      0���41��
C5

����I4�	��G����2�� 

            N 5�
      �G�
�

�����	
<
��H@43���	@�� 
 
3. 2D�3����<=8<
�����2�;2443�p�
 
 3.1 �����2�;�� (t-test) 5;;��H@43���	@��?4@���
��2�C�����
 (Dependent  Sample) �,-��
����	;���	;
��453�3@��1��
C5

�\���	P�	<
��H@4  1����H@4�����5�C��H@4
�;
H4�CI�@��
�@�
5�CI�����������   (�8�
 2�		. 5�C���
m�  2�		.,2540:248)  
 

( )
1n

DDn

D
t

22

−

−
=

∑∑
∑  

   df = n-1 
 
 

 �4-��  D  5�
  
��453�3@��1��
C5

53@�C
:@ 
         n  5�
  �G�
�

:@ 

        ∑ 2
D  5�
  0���41�� D 53@�C3��	��G����2�� 

 2
)D(∑  5�
  0���41�� D ����I4�	��G����2�� 

 
  3.2   �����2�;�� (t-test) =
��3���	@��?4@2�4,�
A9��
 (Independent Samples) �,-��
����	;���	;
��453�3@��1��
C5

5;;��2�;���0�2�46�A�B���������	
��=�2��
4.��/� 5�C

��4��;0��=�;���������	
 �CI�@����H@4���?�8��;���2�
3�45
�
���6/7����2�8��2��
9

��4�:8
�;
:@��;���<=82�>>���-��
?1  ��;��H@4���?�8��;���2�
3�45
�
���6/7����2�8��2��
9

��4�:85;;��3�U�	<=8
C5

���0�2�46�A�B���������	
��=�2��
4.��/�  5�C
��4��;0��=�;
���������	
I������	
 (���5������ Kohout, 1974 : 343  �8��D��<
 =:.�� ��.9��3
C, 2541 : 165) 
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  U�	
C5

���<=8����	;���	;���

C5


��453�3@���CI�@�������2�;�@�
���	
5�C
�����2�;I������	
 
 


��

-� 
�����  5  3����52��������
��CI918�4:�
��453�3@��1��0�2�46�A�B���������	
��=�2��
�
.��/� 5�C5;;���
��4��;0��=�;���������	
  
 
  ��H@4��� 1   ���2�
3�45
�
���6/7����2�8��2��
9
��4�:8
�;
:@��;���<=82�>>���-��
?1 


C5

2�;�@�
 
C5

2�;I��� 


��� 

X1 X1 

C5

53�3@�� 

121
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